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Mg 1. 10H27H, B, 16:20-18:10, —# 306
2. 12H8H, A H, 16:20-18:10, —# 306
K. e



HEFHE

Bl | B RS YR8

— 1 9/18 1.1-1.2 1.1.1-13%F; 1.2.1,3,5(),7(F)
L = 19/19. 20 -

Hoo|9/22 1.3-1.4 1.3.1(%7),3,5

— 9/25 1.4-1.5 1.4.1(%1),3(#1),5(%1),7,9,11; 1.5.1,3,5
—. = 19/26. 27 MEE1: 1.1-1.3 —

Ho]19/29 1.6-1.7 1.6.1(%1),3,5; 1.7.1(#F),3-15%F

7N 9/30 1.8-1.9 1.8.1,3,5

— 10/9 1.9-1.10 1.9.1(#),3
. = | 10/10, 11 MEE2: 1.4-1.8 -

] 10/13 1.10-1.11 -

— 10/16 1.11-1.12 1L11.1(%),3; 1.12.1-9%F
. = | 10/17. 18 | MR 3: 1.9-1.10 —~

i 10/20 1.13, 2.1 1.13.1-7%F; 2.1.1,3,5

— 10/23 = -
. = | 10/24. 25 = -

| 10/27 Wb 1 1.1-1.13 -

— 10/30 2.2-2.3 2.2.1,3,5; 2.3.1(#}),3,5(#F),7,9,11
L =110/31, 11/1 | RSB URTE -

i 11/3 2.4 2.4.1,3(%5),5,7,9,11(%F),13

— 11/6 2.5-2.6 2.5.1(#F),3,6(#1),9; 2.6.1(#F),3(AF)
T = 11/7008 M 4. 2.2-2.4 —

i 11/10 2.7-2.8 2.7.1(#F),3-9%F

— 11/13 2.8-2.9 2.8.1(#F),3(7F); 2.9.1(%F),3
—L = 11/144 15 M 5. 2.5-2.7 —

— | 11/20 2.10 2.10.1-11%F
ZLo= | 11/21, 22 | B 6: 2.8-2.9 -

| 11/24 2.11, 3.1 2.11.1,3; 3.1.1,3,5(%),7,9

— | 11/27 3.2 3.2.1(%F),3-9%r
= [ 1172829 | MR 7 2.10-2.11, 3.1 -

Hoo|12/1 3.3-3.4 3.3.1(%F),3(#F),5

— | 12/4 =23 -
—. = 112/5. 6 = -

fi 12/8 b 2: 2.1-2.11, 3.1-3.3 | -




— 12/11 3.4-35 3.4.1,3(%7),5-13%F
L= 12/124 13 | B YRHT -
f 12/15 3.5-3.6 3.5.1(#F),3(%F),5,7,9(7F),11-17%F,19(%7),21,23
— ] 12/18 3.6-3.7 3.6.1(7F),3; 3.7.1(#F)
=] 12/194 20 | WSS 8 : 3.4-3.5 -
| 12/22 4.1-4.2 4.1.1(3F),3(#F),5(%F)
— 12/25 4.2-4.3 4.2.1(%F),3; 4.3.2(7F),3(7F),5
L= 112/264 27 | MR 9: 3.6-4.1 -
| 12/29 6.1-6.2 6.1.1(7F)
L= 1/2.03 ME10: 4.2-4.3, 6.1 | —
f 1/5 6.2-6.3 6.2.1(%F),4(#F),5,7(7F)
— 1/8 6.3-6.4 6.3.1-13%F; 6.4.1(%F)
—. = 1/9. 10 = -
f 1/12 22 -
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